

Section 2.4

$$\frac{d}{dx}(f(g(x))) = f'(g(x)) \cdot g'(x)$$

$$\frac{d}{dy}(y(u(x))) = y'(u) \cdot u'(x)$$

Ex: $y = \sqrt{x^2 + 3x + 2}$

$$y = \sqrt{u}$$

$$u = x^2 + 3x + 2$$

$$\begin{aligned} y'(x) &= \frac{d}{du}(\sqrt{u}) \cdot \frac{d}{dx}(u(x)) \\ &= (u^{1/2})' \cdot (x^2 + 3x + 2)' \\ &= \frac{1}{2} u^{-1/2} \cdot (2x + 3 + 0) = \frac{1}{2} \cdot \frac{1}{u^{1/2}} \cdot (2x + 3) \end{aligned}$$

$$= \frac{2x + 3}{2 \cdot \sqrt{u}} = \boxed{\frac{2x + 3}{2 \cdot \sqrt{x^2 + 3x + 2}}}$$

Ex: $f(x) = (2x^4 - x)^3$, Find $f'(x)$.

$$= (u)^3, \quad u = 2x^4 - x$$

$$\begin{aligned}
 f'(x) &= \frac{d}{du}(u^3) \cdot \frac{d}{dx}(2x^4 - x) = (u^3)' \cdot (2x^4 - x)' \\
 &= 3u^2 \cdot (2 \cdot 4x^3 - 1) \\
 &= \boxed{3(2x^4 - x)^2 (8x^3 - 1)}
 \end{aligned}$$

$$\begin{aligned}
 f(x) &= \sqrt{6 + \frac{1}{3x}} = (6 + (3x)^{-1})^{1/2} \\
 &= \left(6 + \frac{1}{3}x^{-1}\right)^{1/2}
 \end{aligned}$$

$$\begin{aligned}
 u^{1/2} &\rightarrow \frac{1}{2} u^{-1/2} = \frac{1}{2\sqrt{u}} \\
 u &= 6 + \frac{1}{3}x^{-1}
 \end{aligned}$$

$$f'(x) = \frac{1}{2\sqrt{6 + \frac{1}{3}x^{-1}}} \cdot (6 + \frac{1}{3}x^{-1})'$$

$$= \frac{1}{2\sqrt{6 + \frac{1}{3}x^{-1}}} \cdot (0 + \frac{1}{3} \cdot (-1)x^{-2})$$

$$\begin{aligned}
 &= \frac{-\frac{1}{3}x^{-2}}{2\sqrt{6 + \frac{1}{3}x^{-1}}} = \frac{-1}{2 \cdot 3x^2 \sqrt{6 + \frac{1}{3}x^{-1}}}
 \end{aligned}$$

$$f(x) = \underbrace{(3x+1)^4}_f \cdot \underbrace{(2x-1)^5}_g$$

$$(f \cdot g)' = g f' + f g'$$

$$= (2x-1)^5 [(3x+1)^4]' + (3x+1)^4 [(2x-1)^5]'$$

use chain rule: ↗

$$\uparrow u^4]' = 4u^3$$

$$\uparrow u^5]' = 5u^4$$

use chain rule.

$$[u^4]' = 4u^3$$

$u = 3x+1$

$$[u^5]' = 5u^4$$

$u = 2x-1$

$$\begin{aligned} &= (2x-1)^5 \underbrace{4 \cdot (3x+1)^3}_{4u^3} \cdot \underbrace{(3x+1)'}_{u'} + (3x+1)^4 \cdot \underbrace{5 \cdot (2x-1)^4}_{5u^4} \cdot (2x-1)' \\ &= (2x-1)^5 4 (3x+1)^3 3 + (3x+1)^4 5 (2x-1)^4 \cdot 2 \\ &= 2 (2x-1)^4 (3x+1)^3 [6(2x-1) + 5(3x+1)] \\ &= 2 (2x-1)^4 (3x+1)^3 [12x - 6 + 15x + 5] \end{aligned}$$

$$= \boxed{2 (2x-1)^4 (3x+1)^3 (27x-1)}$$

Ex:

Diff: $f(x) = \frac{3x-2}{(x-1)^2}$

$$[u^2]' = 2u \cdot u'$$

$= 2 \cdot (x-1) \cdot (x-1)'$

$$f'(x) = \frac{(x-1)^2 \cdot (3x-2)' - (3x-2) [(x-1)^2]'}{[(x-1)^2]^2}$$

$$= \frac{(x-1)^2 3 - (3x-2) 2(x-1) \cdot (x-1)'}{(x-1)^4}$$

$$= \frac{3(x-1)^2 - 2(3x-2)(x-1)}{(x-1)^4} = \frac{\cancel{(x-1)} [3(x-1) - 2(3x-2)]}{(x-1)^4 \cdot 3}$$

$$= \frac{3x-3-6x+4}{(x-1)^3} = \boxed{\frac{-3x+1}{(x-1)^3}}$$